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
    

6 k
2

1 v

28 s s



   

 


w s4254

9 w 7 s
6 K 6 K

     
 


2

(w w)(s s)4 16
H

7 28 (s s)

 
  






 

4
5 4 9 7 9 sH w f

7
       4

75 s w


  



 

 

4
713 5 14 w


    

4 

– 4
74 5 7 13 o      

 

  
2

2500 s70 s (s);            

 

 2
2500 s70 s s400 (s)v (s); (s) } (s)v         

2
0 s2 330 0 (s) v s2 330 (s) v 2500 s s330 (s)v             

165 s 


2

70 s60 s0,3 (s);  s0,5 (s)v

 

 

60 s0,6 0 60 s0,6 0 (s) ; 60 s0,6 (s) ;          

600 60 0,6
100 s

6 0,6 0,6
    

 

(s); (s)v (s)} (s); (s) } (s)v     

 2
70 s60 s0,3 s0,5 (s)}     

59,5 s0,6 (s) } 60 s0,6 0,5 (s) }        

6
59,5 1000 (1000) }

10
   540,5 59,5 600 (1000) }    

 


